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\ PUZZLE Part-2 \

Directions (1-5) : Study following information to answer the given
questions:

Six people C, D, E, F, G and H are standing in a straight line facing
north not necessarily in the same order. D is standing second to the
right of F. C is standing fourth to the left of H and H is not standing on
the extreme end of the line. E is standing second to the right of D.
e as C, D, E, F,G ik H S # 3R 48 & Uh il ar § @2 ¥, W el
T fF s A1 D, F % <€ %l TR ©¥H R @l 31 E, D % <6 g ©H © T8l
B1C,H % 91¢ &l =¥ F ® @el ? 3k H @ % sifqq

1. What is the position of G with respect to E ?

E% 96a % G 91 %M I @I 77

(a) Immediate left

(¢) Third to the left

(e) None of these
2. Which of the following pairs represents the people standing at the
extreme ends of the line ?
frfafed & T S-91 SireT W & 8ifqy s8R | @ =afedl & fefid #wd @

(a)FH (b)CE (c¢) DE(d) CH (e) None of these
3. Who is standing second to the right of C ?

C % o€ # T WM | &N Tl §?

(a) F (b) D (¢) G (d) E (e) None of these
4. Four of the following five are alike in a certain way based on their
positions in the above arrangement and so form a group. Which of the
following does not belong to the group?

I T § TS B % WM & FER | FAfafad 99 § 9 =R 56 1R
UM 2 9T S99 UF GUE o1 21 98 UF HI9-91 @ Sl 39 GHE § T S 22

(@) CG (b) GE (c) GH (d) DE (e) FD
5. If all the people are asked to stand in an alphabetical order from
left to right, the positions of how many will remain unchanged?

Ife gt Al Sl ¢ § ST JUIsHA | @Sl {6 S, df fbad safdhar &1 wH
uftafda wm?

(a) One (b) two (c) Three (d) none (e) none of these
Directions (6-10) : Study the following infor- mation carefully
and answer the given questions.

A, B, C, D, E, F, G and H are sitting around a circular table facing the
centre, Each one of them has a different profession viz. doctor, engineer,
architect, teacher, clerk, shopkeeper, businessman and banker.

A sits third, to right of teacher. D sits second to left of G. G is not an
immediate neighbour of the teacher. Only one person sits between B who
is the shopkeeper and teacher. The one who is an architect sits third to
right of the shopkeeper. H sits between architect and engineer. E is not an
immediate neighbour of H. Engineer sits third to the right of clerk. Only
one person sits between businessman and F. E is neither a businessman
nor a doctor.

A,B,C,D,E,F,G 3R H % &R i & T $=@ 43 31 T8F &
-3l FIHA 7 S, Sl , ISR [ efEede foms , FoF , THACK,
SgEl T

fores & dgu A 99121 G & a6 g0 D, Y &1 feeas = 76 21
B, S 3#MeR ? Wd fYri & i daet U AfF da1 21 sfHHe, gHMER & aw
e 21 H, enfdeae ud gt & ot da1 21 E, H &1 fieheqn g6 161 81 oot
% T 9 SR 7)1 aHEl Td F % o9 39 @ Ak der @1 E T
gl § | 7€ SR 21 TSI T B 1 el % Sd e SR 81 o g F
% o9 dad da1 21 E 7 q |l 21 9 € SR @

6. Which of the following is true with respect to the given seating
arrangement?
3 SHTEfHUl & MUR R FEfafed 4 9 S 99 €7
(a) E is an immediate neighbour of the engineer
(b) E is an architect
(c) The clerk is an immediate neighbour of the banker
(d) The teacher sits between H and the engineer
(e) Shopkeeper sits second to the right of the teacher
7. What is the profession of H?
(a) Businessman (b) Architect
(c) Banker (d) Teacher

(b) Second to the left
(d) Third to the right

(e) Shopkeeper

8. What is the position of doctor with respect to the
banker?

R I YR ST B FA WM 82

(a) Immediately to the left (b) Third to the left
(c) Second to the right (d) Fourth to the left

(e) Second to the left
9. Who sit/s exactly between the architect and the
businessman?

AfEea Td g & St a4 FH a1 22

(a) Cand H (b) Clerk (c) Banker and shopkeeper

(d) Doctor (e) C and teacher
10. Who amongst the following is a clerk?

frfafad 8 § 4 Fas 22

(a) C (b) D (c) E
Question 11-15
A, B, C, D, E, F, GandH are sitting around a circular table facing
the centre. Each one of them has a different profession viz.
doctor, engineer, architect, pilot, banker, teacher, businessman
and politician.

The politician sits third to right of G. C is an
immediate neighbour of G. Architect sits second to right
of C. B sits third to right of H. H is neither a politician nor
an architect. Only one person sits between C and the
teacher. A and F are immediate neighbours of each
other. Neither A nor F is a politician. Doctor sits second
to right of A. Two people sit between D and the engineer.
D is not a politician. Pilot is not an immediate neighbour
of the politician. Banker sits second to left of A.

A,B,C,D,E,F,G 3t H % gR 591 & fiid %2 &1 i 48
TG 93 B1 YT F ST -3 SHIHE § TN Siay, SR,
AfHET, TS, TR, (YR, =A@t g1 T
G % < €9 TerHifad dar 71 C, G i frehedd et 81 C & aE g1
AfpeFe dar 21 H & e dteq B der 81 H 7 IsHifay 8 e 7 &
AqfHeTe | C U Ot & o Fal Tk AT 9312 A 6 F T Th-g@R
% frehdedd S| 81 76 A 79 F Torifaa 81 A % aI¢ o3 Sfaet et
D W SRR & offe < A A 81 D TeHifad Te 81 e, TSHifa
1 fehead TSI T 81 A % a1 g9 A el 2|
11. Who amongst the following is a businessman?

forfeafad @ 9 $9 oqear 82

(dF (e) G

(@A (b)H (oC (dF (e)D
12. What is the position of F with respect to the politician?
TeHifes & 98 # F &1 wF &7 272

(a) Immediate right

(c) Second to the right
(e) Second to the left

13. Who sit(s) exactly between the teacher and the engineer?

forers wd SofifeR & S o 7 FF FeAS 72

(a)CandH (b) Only the politician

(c) Only the doctor (d) Cand B

(e) The architect and the banker
14. Which of the following is true with respect to the
given seating arrangement?

G R Faw $ R W fHfatad ¥ ¥ F49 -9 9 27

(a) D is an immediate neighbor of G

(b) G is a banker

(c) The banker and the teacher are
neighbours of each other

(d) Pilot sits exactly between
businessman

(e) Doctor sits second to the right of the businessman

AfFea W@ FagE & 3% o ¥ THee J99 ¢,
15. What is the profession of G?

(@) Businessman (b) Pilot (c) Banker (d) Teacher

(e) Architect

(b) Third to the left
(d) Fourth to the left

immediate

architect and
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Directions (16-18) : Study the following information to
answer the given questions:

P, Q, R, S, T, Vand W are sitting in a straight line facing north.
Each one of them lives on a different floor in the same building which
is numbered from one to seven.

Q sits fourth to the left of the person living on the 6th floor.
Either Q or the person living on the 6th floor sits at the extreme ends
of the line.

Only one person sits between Q and W. W lives on the 3rd floor.
The person living on 1st floor sits third to right of S. S is not an
immediate neighbour of W. Only one person lives between T and the
person who lives on the 2nd floor.

P and R are immediate neighbours of each other. P does not live
on the 6th floor. One who lives on 5th floor sits third to right of the
one who lives on the 7th floor.

P,Q,R,S, T,V wd W S’ %I 4 & & Hieli 3@ 7 43 21 378 § qish
T & TIRG I -3 HiSd 0 wd 2, N9 U ¥ 9 d% T 2

Q , =31 4id W ® ®© = & o &l 919 WH WS 1 A Q A
3l HiSel W & @ A i & a9 8 W 987 21

PUw R T® % o § 943 71 P, 231 4fid W T8 &1 =1 =i

UEEl A4S W @ 2, 98 9iddl G W ®d o % e &l A

M | da1 31

16. Who amongst the following lives on the 4th floor?
frefafed & § =it dfeter | F9 Tar 22

@P,(B)Q, (R, DS, (& V

17. On which of the following floors does T live?
T f=fafad & 9 59 d4f§e | @ 22
(a) weet, (b) 554, (c) ur=dt, (d) =2, (e) wraat

18. How many floors are threre between the floors on which V and P live?

f5 wfSiell ®V wd P W@ 2, 3% o fohaet Aot 82

(@) ws, (b) &, (c) 9, (d) =, (e) = T
Directions (19-20) :

A, B, C, D, E and F live on different floors in the same building having
six floors numbered 1 to 6 (the ground floor is numbered 1, the floor
above it, number 2 and so on and the topmost floor is numbered 6).

A lives on an even numbered floor. There are two floors between the
floors on which D and F live. F lives on a floor above D’s floor. D does not
live on floor number 2. B does not live on an odd numbered floor. C does
not live on any of the floors below F’s floor. E does not live on a floor
immediately above or immediately below the floor on which B lives.
A,B,C,D, E wi F w& srd, faH o8 el €, % Sfer-sier el W @
AT B ¢ § & T s {1 T B (e FI HY 2, 39 HU AT SISl Bl R qo
T YR 3 A4Sl B 9 G T ® 9o G S HiSe 1 Rq & fAr w 21)
A 99 §eT g 4f5e W e 21 D wd F ot Siel & e & e € F, D % e W
el WiSel R Tedl 71 D, Hierd 9 3 R T Tl 1 B faem W aredt wferd W TE
W& 21 C, F & 4 archt ot wferel ) 78 wa1 21 E, B & Tehed SR a1 Tohed
arelt HfeTd W TE T @7
19. Who amongst the following live on the floors exactly between D and
F?

frfafed & @ &4 D wd F % 3 o9 § el &7

(@EB (B)CB (9EC (d)A E (e)B, A
20. On which of the following floors does B live?

frefefad & ¥ 59 4 | B & 77

(a) 6th (b) 4th (c) 2nd (d) 5th(e) Cannot be determined
Directions (21 - 25):

Representatives from eight different Banks viz. A, B, C, D, E, F, Gand H
are sitting around a circular table facing the centre but not necessarily in
the same order. Each one of them is from a different Bank viz. UCO Bank,
Oriental Bank of Commerce, Bank of Maharashtra, Canara Bank,
Syndicate Bank, Punjab National Bank, Bank of India and Dena Bank.

F sits second to right of the representative from Canara Bank.
Representative from Bank of India is an immediate’ neighbour of the
representative from Canara Bank. Two people sit between the
representative of Bank of India and B. C and E are immediate neighbours
of each other. Neither C nor E is an immediate neighbour of either B or
the representative from Canara Bank. Representative from Bank of

Maharashtra sits second to right of D. D is neither the
representative of Canara Bank nor Bank of India. G and the
representative from UCO Bank are immediate neighbours of
each other. B is not the representative of UCO Bank. Only one
person sits between C and the representative from Oriental
Bank of Commerce.

H sits third to left of the representative from Dena Bank.
Representative from Punjab National Bank sits second to left of
the representative from Syndicate Bank.
3y fafe & @ A, B, C, D, E, F, G =ik H & sfafafy 3= %1 oIk 5e
0 UF IaER 4 & (e 93 §, W&l T8 {6 34 o9 &1 570 9 I
f<ione di%, N AYMA d%, a6 3% e 7 < S|

F, 30 % & sfafify & ¢ &1 @ @M, W &al 81 5 3w gfean
%1 gfafafy, F0 % F wfaffa F1 1et 7 da1 31 3% % e 5 wfafafy
ARBF AT ATaS ¥ C 9 E T g & M- a3 21 7@ C, 7
A E A B S A% & iy & el § 901 € 4% 6 qeNy, &
afafafes D & & & gR WH R A2 D, T 0 4 3, T & o 31

fear 1 sfafifa 81 G 9 UCO &% &1 sfafify ©F g & STel-aet 918
#1 B, UCO &% 1 gfafify 78 21 C 9 siiftiea o% 1% #7d & &
el TF =AfE a1 21

H, 3 5% % sfafafa & e # T ©E | 91 31 19" T96d %
1 Sfafify, e d% & Sfaff & o #1 g ©F W ¥431 21
21. Four of the following five are alike in a certain way based on
the given arrangement and thus form a group. Which is the one
that does not belong to that group?

(a) H - UCO Bank (b) A- Canara Bank

(c) D - Bank of Maharashtra

(d) E - Syndicate Bank

(e) F = Punjab National Bank )

ST % MR W FrEffad 1 & € =R 5 TR 996 2

T, 371 U U 41 € | I8 U SiH-91 € S 39 e ¥ e 3771 22

(a) H-UCO 4% (b) A- 11 &% (c) D- 9% s wery

(d) E- fdihe 5% (e) F — 91 JeMd
22. Which of the following is true with respect to the given
seating arrangement?

(a) B is the representative from Bank of Maharashtra

(b) C sits second to right of H

(c) The representative from Dena Bank sits to the
immediate left of the representative from UCO Bank

(d) A sits second to right of the representative from Bank of
India

(e) The representatives from Bank of Maharashtra and
Syndicate Bank are immediate neighbours of each other
23. Who amongst the following sit exactly between B and the
representative from Bank of India?

B 3iR &% 3% 3fear % wfaf1fy & 3% o= & #4198 72
(a) A and the representative from UCO Bank

(b) Fand G

(c) H and the representative from Bank of Maharashtra

(d)Hand G

(e) Representatives from Syndicate Bank and Oriental

Bank of Commerce
24. Who amongst the following is the representative from
Oriental Bank of Commerce?

(a) A (b) C () H (G (e)D

frfafad % 9 eifided d% 1% e & Sty $H-a1 27

@A ®C (c)H dG (e)D
25. Who amongst the following sits second to left of B?

(a)C (b)H

(c) The representative from Canara Bank

(d) The representative from Punjab National Bank

(e) G

frferad # ¥ B & 913 #1 g ©H W 9 937 8

(a) C (b) H (¢) #7 3% 31 ufafef

(d) 95 Tere 9% 1 e () G




